
28        I

13 14

12 10

6 8

1

9

7

4

3

2

11

5

1516

D1 E7557
REPLACED HARVARD PROGRAMMABLE DRIVER 

(250022410000) WITH ERP DRIVER (25002942XXXX) FOR UV 
CONFIGURATIONS AND REMOVED 250022580000

DR 11/13/2019

C1 E6985 ADDED 250024680000 TO BOM MATRIX TABLE (SHEET 2) JG 3/29/2017

B1 E6966 REPLACED 250022400000 WITH 250025530000, ADDED 
250025520000, UPDATED BOM MATRIX JG 2/24/2017

A1 E6802 DOCUMENT RELEASE JG 4/29/2016

REV ECO REVISION DESCRIPTION DRFT DATE APVD

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 2500215700XX MAIN HOUSING 1

2 250022180000 WIRE HARNESS, 18/3, HWUL 1

3 2500216100XX PIVOT INTERFACE 1

4 2500216000XX PIVOT BASE 1

5 2500215900XX PIVOT RISER 1

6 750103 Screw, PNH, 8-32 X 7/16 LG, MACH, 
Phillips, SST 6

7 250021890000 PIVOT GASKET 1

8 250022820000 GROUND PLATE, UP LIGHT 1

9 250022390000 SCREW, SCH, 1/4-20 X 1/2 LG, 
MACH, 3/16 HEX, SST 1

10 250021580000 CARTRIDGE GUIDE 1

11 250023960000 SUBASSY, CARTRIDGE 1

12 250010280038 O-RING, SILICONE, ORANGE, -232 2

13 250021840000 LENS, .130 THK  X  3.730 DIA 1

14 2500216200XX FACE 1

15 250025530000 SCREW, SH, 8-32 X 1" LG, SST 1

16 250025520000 RETAINER, FACEPLATE, 13CM 1
A

B

C

DIMENSIONAL
TOLERANCES:

REL.
DATE:

TITLE:

CHECKED
BY:
DESIGNER:

SCALE:

DRAWING NO. REV.

PRINT
DATE:

UNLESS OTHERWISE SPECIFIED:

SURFACE FINISH:

ALL DIMENSIONS ARE IN INCHES

DO NOT SCALE DRAWING

1:4

CREST, ASSEMBLYJG

21110494XXXX D1+

N/A

ANGLES: ±1°

Hunter Industries
Engineering
1940 Diamond St.
San Marcos, CA 92078

2 1

SHEET  1  OF  2

.XX = ±.01
.XXX = ±.005

.XXXX = ±.0005THIRD ANGLE PROJ.

CSIZE:

3/23/2020

DRAWN
BY:

PRODUCT:

MATERIAL:

N/A

DENOTES FUNCTIONALLY CRITICAL POINTS
DENOTES CRITICAL INSPECTION POINTS

Replacement Parts 

ITEM DESCRIPTION CATALOG #

1-9 Housing Assembly CSTHAXX*

10 Cartridge Guide N/A

11 Cartridge
See Cartridge 

Chart

12-16 Lens Cap Assembly CSTLCXX*

12-16 Long Shroud Lens Cap Assembly CSTLCLSXX*

12-16 Solite Lens Cap Assembly CST13LTXX*

* XX = Powder coat color code

Cartridge Configuration Chart

BASE POWER CONTROL OUTPUT CCT OPTICS

CRT19 SV
120V Phase
Dim (UL)

L07
700
Lumens

K27
2,700K

SP
20° Spot

UV
120–277V
0–10V
Dim (UL)

L10
1,000
Lumens

K30
3,000K

FL 
40° Flood

HV
220–240V
0–10V 
Dim (CE)

L13
1,300
Lumens

WF
60° 
Wide 
Flood

L20
2,000
Lumens

K40
4,000K

VW
90° Very  
Wide 
Flood

WW 
90° x 120°
Wall Wash

Example: CRT19SVL10K30WF

NOTES: UNLESS OTHERWISE SPECIFIED

1.      INTERPRET DRAWING PER ASME Y14.5M-1994.
2.      REFER TO HUNTER POL1002 FOR AN 

 EXPLANATION OF THE FX PART NUMBERS.
3.      BASE MODEL SHOWN. REFERENCE BOM MATRIX

 FOR ADDITIONAL OPTIONS.

14 13

12 10

9 8

7

6

5

3

4

2

11

1

1516

A1 E7612 DOCUMENT RELEASE JG 2/14/2020

REV ECO REVISION DESCRIPTION DRFT DATE APVD

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 2500215900XX PIVOT RISER 1

2 250022180000 WIRE HARNESS, 18/3, HWUL 1

3 2500216000XX PIVOT BASE 1

4 2500216100XX PIVOT INTERFACE 1

5 250021890000 PIVOT GASKET 1

6 250022390000 SCREW, SCH, 1/4-20 X 1/2 LG, 
MACH, 3/16 HEX, SST 1

7 2500215700XX MAIN HOUSING 1

8 250022820000 GROUND PLATE, UP LIGHT 1

9 750103 Screw, PNH, 8-32 X 7/16 LG, MACH, 
Phillips, SST 6

10 250021580000 CARTRIDGE GUIDE 1

11 250023960000 SUBASSY, CARTRIDGE 1

12 250010280038 O-RING, SILICONE, ORANGE, -232 2

13 2500216300XX FACE, SHROUDED 1

14 250021840000 LENS, .130 THK  X  3.730 DIA 1

15 250025530000 SCREW, SH, 8-32 X 1" LG, SST 1

16 250025520000 RETAINER, FACEPLATE, 13CM 1
A

B

C

D

4 3 2 1

DIMENSIONAL
TOLERANCES:

REL.
DATE:

TITLE:

CHECKED
BY:
DESIGNER:

SCALE:

DRAWING NO. REV.

PRINT
DATE:

UNLESS OTHERWISE SPECIFIED:

SURFACE FINISH:

ALL DIMENSIONS ARE IN INCHES

DO NOT SCALE DRAWING

1:4

ACT5, ASSEMBLYJG

21110796XXXX A1

N/A

ANGLES: ±1°

Hunter Industries
Engineering
1940 Diamond St.
San Marcos, CA 92078

C

D

A

B

4 3 2 1

SHEET  1  OF  2

.XX = ±.01
.XXX = ±.005

.XXXX = ±.0005THIRD ANGLE PROJ.

CSIZE:

4/27/2020

DRAWN
BY:

PRODUCT:

MATERIAL:

N/A

THIS DRAWING/DOCUMENT CONTAINS TRADE SECRET INFORMATION OF HUNTER INDUSTRIES, INC. USE, PUBLICATION, AND/OR 
DISCLOSURE OF THIS INFORMATION TO THIRD PARTIES ARE ALL PROHIBITED EXCEPT AS EXPRESSLY AUTHORIZED IN ADVANCE BY HUNTER. 
NO PATENT LICENSE IS GRANTED TO ANY INVENTIONS DESCRIBED AND/OR ILLUSTRATED HEREIN.  ©COPYRIGHT HUNTER INDUSTRIES, INC. 

CONFIDENTIAL AND PROPRIETARY

B1 FORMAT REVISION 08/27/12 

DENOTES FUNCTIONALLY CRITICAL POINTS
DENOTES CRITICAL INSPECTION POINTS

LINE VOLTAGE | UP LIGHT | A-CT5



fxl.com     +1 760-744-5240    I    29

ITEM DESCRIPTION CATALOG #

1 Driver See Driver Config Chart

2–4 Cartridge Assembly CARTASSY19

2 Driver Clamp 250021560000

3 Screw, 8-32 x 3/4" 250020860000

4 Cartridge Body †

5 LED Board See LED Config Chart

6 Reflector Adapter Ring 250022330000

7 Washer 250012980000

8 Screw, 4-40 x 3/ 8" 762400*

9 Reflector, 20º SP 250022300000

9 Reflector, 40º FL 250022310000

9 Reflector, 60º WF 250022320000

9 Reflector, 90º VW 250021660000

9 Reflector, 90º x 120º WW 250021650000

† This part is not serviceable. Contact Customer Support or a 
local distributor to order a new product.

8

7

5

6

4
3

2

1

9

BASE POWER CONTROL OUTPUT

DVR SV 
120V Phase
Dim (UL)

350
700 Lumens (L07)

UV
120–277V
0–10V
Dim (UL)

500
1,000 Lumens (L10)

HV
220–240V
0–10V
Dim (CE)

700
1,300 Lumens (L13) &
2,000 Lumens (L20)

700D
SV L20 only

Example: DVRUV350

BASE OUTPUT CCT

LED19S L13 
700 Lumens (L07) &
1,000 Lumens (L10) &
1,300 Lumens (L13)

K27
2,700K

L20
2,000 Lumens (L20)

K30
3,000K

K40
4,000K

Example: LED19SL13K30

Driver Driver Configuration Chart

LED Configuration Chart


	AL 
	AN
	AP
	A-RISER
	BD
	BD LED
	BP
	BQ 
	CA
	CA-A
	CB
	CC LED
	CF
	CG
	CL
	CM
	CP
	CP LED
	CR
	CV
	DE LED
	DL
	DL-A
	DM
	DM-A
	DP
	DR 2-TIER
	DR 3-TIER
	DS 2-TIER
	DS 3-TIER
	EA
	EA LED
	EX
	FB LED
	FC
	FC LED
	FG
	FG LED
	FR LED
	GN
	G-RISER
	GT
	HC LED
	HP-48
	JB LED
	JS LED 
	KG LED
	LB
	LC LED
	LE LED
	LF LED
	LL LED
	LM
	LM LED
	LO
	LP
	LR 
	LS
	LX
	LZDC
	MD
	ML
	MM
	MO LED
	MP
	M-PJ LED
	M-PK LED
	M-PL LED
	M-PZ LED
	MR-16 Eco Lamp Chart
	MR LED
	MS LED
	MU
	NL LED
	NP LED
	NR LED
	PB
	PD
	PD LED
	PE LED
	PF
	PF LED
	PL
	PL led
	PM
	PM LED
	PO LED
	PR
	P-RISER
	PS LED
	PV
	PX
	QB LED
	QF
	QL LED
	QZ LED
	RC
	RL
	RP
	RS
	RW
	SC
	SC LED
	SI
	SL
	SL LED COMPONENTS
	SM
	SP
	SP-A
	TC
	TD
	TD LED
	TE
	TM
	TM LED
	TS
	UN
	UN LED
	VE LED
	VL LED
	VS LED
	WS

